Validate	Print	Help	Percentage BoQ
----------	-------	------	----------------

Tender Inviting Authority: S.O(Civil), Rajrappa Area

Name of Work :-" Comprehensive annual maintenance of Senior type colony and office buildings under Rajrappa Area"

		Category of Bidder( To Be Selected by Bidder)	To Be Entered by Department		
ITC Not Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company :		Select	18.00	0.00	0.00

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER#	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1	Part - A 18 mm cement plaster in two coats under layer 12 mm thick cement plaster 1:5 (1 cement: 5 coarse sand) and a top layer 6 mm thick cement plaster 1:3 (1 cement: 3 coarse sand) finished rough with sponge.	226.00	Sqm	347.15	78455.90	INR Seventy Eight Thousand Four Hundred & Fifty Five and Paise Ninety Only
2	12 mm cement plaster of mix 1:6 (1 cement: 6 fine sand)	1940.00	Sqm	217.70		INR Four Lakh Twenty Two Thousand Three Hundred & Thirty Eight Only
3	6 mm cement plaster of mix : 1:3 (1 cement: 3 fine sand)	325.00	Sqm	195.85	63651.25	INR Sixty Three Thousand Six Hundred & Fifty One and Paise Twenty Five Only
4	12 mm cement plaster finished with a floating coat of neat cement of mix : 1:4 (1 cement: 4 fine sand)	950.00	Sqm	284.75	270512.50	INR Two Lakh Seventy Thousand Five Hundred & Twelve and Paise Fifty Only
5	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: Cement mortar 1:6 (1 cement : 6 coarse sand)	77.50	Cum	5322.15	412466.63	INR Four Lakh Twelve Thousand Four Hundred & Sixty Six and Paise Sixty Two Only
6	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1.6 (1 cement : 6 coarse sand)	29.69	Cum	6494.75	192829.13	INR One Lakh Ninety Two Thousand Eight Hundred & Twenty Nine and Paise Thirteen Only
7	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundations and plinth in :cement mortar 1:4 (1 cement : 4 coarse sand)	120.00	sqm	673.45	80814.00	INR Eighty Thousand Eight Hundred & Fourteen Only
8	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level. Cement mortar 1:4 (1 cement :4 coarse sand)	225.00	Sqm	802.35		INR One Lakh Eighty Thousand Five Hundred & Twenty Eight and Paise Seventy Five Only
9	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:2:4 (1 cement : 2 coarse sand (zone-III) derived from natural sources : 4 graded stone aggregate 20 mm nominal size derived from natural sources)	10.00	Cum	6490.90	64909.00	INR Sixty Four Thousand Nine Hundred & Nine Only
10	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:3:6 (1 cement : 3 manufactured sand derived from Recycled concrete Aggregate (RCA) : 6 graded stone aggregate 20 mm nominal size Recycled Aggregate (RA))	10.00	Cum	4375.95		INR Forty Three Thousand Seven Hundred & Fifty Nine and Paise Fifty Only
11	Reinforced cement concrete work in beams, suspended foors, roofs having slope up to 15* landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases above plinth level up to foor five level, excluding the cost of centering, shuttering, finishing and reinforcement with 11.1.53 (1 cement : 1.5 coarse sand/zone-III) derived from natural sources: 3 graded stone aggregate 20 mm nominal size derived from natural sources).	2.43	Cum	8797.65	21378.29	INR Twenty One Thousand Three Hundred & Seventy Eight and Paise Twenty Nine Only

12	Providing, hoisting and fixing above plinth level up to floor five level precast reinforced cement concrete work in string courses, bands, copings, bed plates, anchor blocks, plain window sills and the like, including the cost of required centering, shuttering but, excluding cost of reinforcement with 11.53 (1 cement: 1.5 coarse sand (zone-III) derived from natural sources: 3 graded stone aggregate 20 mm nominal size derived from natural sources).	3.60	Cum	8356.10		INR Thirty Thousand &Eighty One and Paise Ninety Six Only
13	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level, excluding cost of centering, shuttering, finishing and reinforcement: 1:1.5:3 (1 cement: 1.5 coarse sand: 3 graded stone aggregate 20 mm nominal size)	2.00	Cum	8441.35	16882.70	INR Sixteen Thousand Eight Hundred & Eighty Two and Paise Seventy Only
14	Centering and shuttering including strutting, propping etc. and removal of form for Weather shade, Chajjas, corbels etc., including edges	14.30	Sqm	637.65	9118.40	INR Nine Thousand One Hundred & Eighteen and Paise Forty Only
15	Centering and shuttering including strutting, propping etc. and removal of form for : Columns, Pillars, Piers, Abutments, Posts and Struts.	80.00	Sqm	621.80	49744.00	INR Forty Nine Thousand Seven Hundred & Forty Four Only
16	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete up to plinth level. Thermo-Mechanically Treated bars.	700.00	Kg	75.85	53095.00	INR Fifty Three Thousand &Ninety Four and Paise One Hundred Only
17	Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-charge) 0.50 mm (+ 0.05 %), total coated thickness with zinc coating 120 gm per sqm as per 18.277 in 240 mp steel grade, 5.7 microne spooy primer on both side of the sheet and polysester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 meter or as desired by Engineer-in-charge. The sheet shall be fixed using self-drilling/self tapping screws of size (5.5x 55mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	200.00	Sqm	571.00	114200.00	INR One Lakh Fourteen Thousand Two Hundred Only
18	Cement concrete flooring 1:24 (I cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick with 20mm nominal size stone aggregate.	1000.00	Sqm	452.50		INR Four Lakh Fifty Two Thousand Five Hundred Only
19	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dado, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	360.36	sqm	871.30	313981.67	INR Three Lakh Thirteen Thousand Nine Hundred & Eighty One and Paise Sixty Seven Only
20	Providing and laying Ceramic glazed floor tiles 300x300 mm (thickness to be specified by the manufacturer) of 1st quality conforming to 1S:15622 of approved make in colours such as White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4Coarse sand) including pointing the joints with white cement and matching pigment etc., complete.	179.20	Sqm	762.80	136693.76	INR One Lakh Thirty Six Thousand Six Hundred & Ninety Three and Paise Seventy Six Only
21	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622 of approved make in all colours and shades, laid on 20mm thick cement mortar 1:4 (1 cement: 4 coarse sand) including grouting the joints with white cement and matching pigments etc., complete. Size of Tile 600x600 mm	100.00	Sqm	1180.40	118040.00	INR One Lakh Eighteen Thousand &Forty Only
22	Distempering with 1st quality acrylic distemper (ready mixed) having VOC content less than 50 gram/litre, of approved manufacturer, of required shade and colour all complete: New work (two or more coats) over and including water thinnable priming coat with cement primer having VOC content less than 50 pramilitre	1000.00	Sqm	115.00	115000.00	INR One Lakh Fifteen Thousand Only
23	Distempering with 1st quality acrylic distemper (ready mixed) having VOC (Volatile Organic Compound) content less than 50 gram/ litre, of approved brand and of required said and colour complete to give and even said.Old work (one or more coats)	16790.00	Sqm	38.55	647254.50	INR Six Lakh Forty Seven Thousand Two Hundred & Fifty Four and Paise Fifty Only
24	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade :One or more coats on old work	6044.00	sqm	65.65	396788.60	INR Three Lakh Ninety Six Thousand Seven Hundred & Eighty Eight and Paise Sixty Only
25	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work.	954.20	Sqm	99.90		INR Ninety Five Thousand Three Hundred & Twenty Four and Paise Fifty Eight Only
26	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	2200.00	Sqm	98.45		INR Two Lakh Sixteen Thousand Five Hundred & Ninety Only
27	White washing with lime to give an even shade :Old work (two or more coats)	4067.00	sqm	14.30		INR Fifty Eight Thousand One Hundred & Fifty Eight and Paise Ten Only
28	Colour washing such as green, blue or buff to give an even shade: New work (two or more coats) with a base coat of white washing with lime	8340.00	Sqm	33.40		INR Two Lakh Seventy Eight Thousand Five Hundred & Fifty Six Only
29	Finishing walls with water proofing cement paint of required shade :Old work (one or more coats @ 2.20 kg/10 sqm) complete.	10246.00	Sqm	48.35		INR Four Lakh Ninety Five Thousand Three Hundred & Ninety Four and Paise Ten Only
30	Finishing walls with Acrylic Smooth exterior paint of required shade:Old work (One or more coat applied @ 0.90 ltrl10 sqm).	1000.00	sqm	56.70	56700.00	INR Fifty Six Thousand Seven Hundred Only
				I		

31	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length ( hold fast lugs or dash fastener shall be paid for separately). Sal wood	1.19	Cum	90581.10		INR One Lakh Seven Thousand Seven Hundred & Ninety One and Paise Fifty One Only
32	Providing and fixing wire gauge shutters using galvanized M.S. wire gauge of average width of aperture 1.4 mm in both directions with wire of dia 0.63 mm, for doors, windows and clerestory windows with hinges and necessary screws 35 mm thick shutters Kilis seasoned and chemically treated hollock wood	84.00	sqm	2568.50		INR Two Lakh Fifteen Thousand Seven Hundred & Fifty Four Only
33	Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters: 30 mm thick including ISI marked Stainless Steel but thinges with necessary screws.	126.00	Sqm	1575.70		INR One Lakh Ninety Eight Thousand Five Hundred & Thirty Eight and Paise Twenty Only
34	Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) decorative type, core of block board construction with frame of 1st class hard wood and well matched teak 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters. 25 mm thick (for cupboard) including ISI marked nickel plated bright finished M.S. Plano hinges IS: 3818 marked with necessary screws.	117.60	Sqm	2123.00		INR Two Lakh Forty Nine Thousand Six Hundred & Sixty Four and Paise Eighty Only
35	Providing and fixing factory made P.V.C. door frame of size 50x47 mm with a wall thickness of 5 mm, made out of extruded 5mm rigid PVC foam sheet, mitred at corners and joined with 2 Nos of 150 mm long brackets of 15x15 mm M.S. square tube, the vertical door frame profiles to be reinforced with 19x19 mm M.S. square tube of 19 gauge, EPDM rubber gasket weather seal to be provided through out the frame. The door frame to be fixed to the wall using M.S. screws of 65/100 mm size, complete as per manufacturer's specification and direction of Engineer-in-Charge.	123.75	m	347.45		INR Forty Two Thousand Nine Hundred & Ninety Six and Paise Ninety Four Only
36	25 mm thick PVC flush door shutters made out of a one piece Multi chamber extruded PVC section of the size of 762 mm X 25 mm or less as per requirement with an average wall thickness of 1 mm (± 0.3 mm). PVC foam end cap of size 23x10 mm are provided on both vertical edges to ensure the overall thickness of 25 mm. M.S. tube having dimensions 19 mm x 19 mm and 1.0 mm (± 0.1 mm) is inserted along the hinge side of the door. Core of the door shutter should be filled with High Density Polyurethane foam. The Top & Bottom edges of the shutter are covered with an end-cap of the size 25 mm X 11 mm. Door shutter shall be reinforced with special polymeric reinforcements as per manufacturer's specification and direction of Engineer-in-charge to take up necessary hardware and fixtures. Stickers indicating the locations of hardware will be pasted at appropriate places.	39.38	Sqm	2228.70		INR Eighty Seven Thousand Seven Hundred & Sixty Six and Paise Twenty One Only
37	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete : 250x16 mm	40.00	No.	141.00	5640.00	INR Five Thousand Six Hundred & Forty Only
38	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete: 150x10 mm	160.00	No.	44.85		INR Seven Thousand One Hundred & Seventy Six Only
39	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete: 250x10 mm	160.00	No.	63.60	10176.00	INR Ten Thousand One Hundred & Seventy Six Only
40	Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete: 75 mm	160.00	No.	20.30	3248.00	INR Three Thousand Two Hundred & Forty Eight Only
41	Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete: 125 mm	160.00	No.	29.85		INR Four Thousand Seven Hundred & Seventy Six Only
42	Providing 40x5 mm flat iron hold fast 40 cm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embedding in cement concrete block 30x10x15cm 1:3:6 mix (1 cement: 3 coarse sand: 6 graded stone aggregate 20mm nominal size)	600.00	No.	156.45		INR Ninety Three Thousand Eight Hundred & Seventy Only
43	Providing and laying APP (Atactic Polypropylene Polymer) modified prefabricated five layer, 3 mm thick water proofing membrane, black finished reinforced with glass fibre matt consisting of a coat of bitumen primer for bitumen membrane (@ 1.40) litrosym by the same membrane manufactured of Gensivity at 25°C, 0.87 · 0.89 kg/litre and viscocity 70 · 160 cps. Over the primer coat the layer of membrane shall be laid using butane torch and sealing all joints etc., and preparing the surface complete. The vital physical and chemical parameters of the membrane shall be as under: Joint strength in longitudinal and transverse direction at 23°C as 350/300 N/5 cm. Tear strength in longitudinal and transverse direction at 63°C as 350/300 N/5 cm. Tear strength in longitudinal and transverse direction at 60°80N. Softening point of membrane not less than 150°C. Cold flexibility shall be upto -2°C when tested in accordance with ASTM, D - 5147. The laying of membrane shall be got done through the authorised applicator of the manufacturer of membrane 3 mm thick	2756.60	sqm	443.70		INR Twelve Lakh Twenty Three Thousand One Hundred & Three and Paise Forty Two Only
44	Grading roof for water proofing treatment with Cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	110.26	Cum	6616.35		INR Seven Lakh Twenty Nine Thousand Five Hundred & Eighteen and Paise Seventy Five Only
-	-					

45	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, for all lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil.	150.00	Cum	188.45	28267.50	INR Twenty Eight Thousand Two Hundred & Sixty Seven and Paise Fifty Only
46	Providing reinforced by organic fibres and/or inorganic synthetic fibres cement 6 mm thick corrugated sheets (as per IS: 14871) roofing up to any pitch and fixing with polymer coated J, or L hooks, bolts and nuts 8 mm dia. G.I. plain and bitumen washers or with self drilling fastener and EPDM washers etc. complete (excluding the cost of purlins, rafters and trusses), including cutting sheets to size and shape wherever required.	100.00	sqm	389.10	38910.00	INR Thirty Eight Thousand Nine Hundred & Ten Only
47	Providing corrugated G.S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/vertical or curved surfaces), excluding the cost of purlins, raflers and trusses and including cutting to size and shape wherever required.0.63 mm thick with zinc coating not less than 275gm/ m²	50.00	Sqm	821.25	41062.50	INR Forty One Thousand &Sixty Two and Paise Fifty Only
48	Providing and fixing 18 mm thick gang saw cut, mirror polished, premoulded and prepolished, machine cut for kitchen platforms, vanity counters, window sills, facias and similar locations of required size, approved shade, colour and texture laid over 20 mm thick base cement mortar 14 (1 cement; 4 course sand), joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing of edges to give high gloss finish etc. complete at all levels. Granite stone slab of colour black, Cherry/Ruby red Area of slab over 0.50 sqm	36.00	sqm	3701.15	133241.40	INR One Lakh Thirty Three Thousand Two Hundred & Forty One and Paise Forty Only
49	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.	36.00	sqm	1844.00	66384.00	INR Sixty Six Thousand Three Hundred & Eighty Four Only
50	Part B- Pipelines and Sanitary fittings Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.0 on spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. : Internal work - Exposed on wall 20 mm nominal outer dia. Pipes.	600.00	metre	259.05	155430.00	INR One Lakh Fifty Five Thousand Four Hundred & Thirty Only
51	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge.: Internal work - Exposed on wall 25 mm nominal outer dia Pipes.	600.00	metre	331.50	198900.00	INR One Lakh Ninety Eight Thousand Nine Hundred Only
52	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings. This includes jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge: External work 40 mm nominal outer dia. Pipes.	50.00	metre	460.95	23047.50	INR Twenty Three Thousand &Forty Seven and Paise Fifty Only
53	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls etc.: Internal work – Exposed on wall. 20 mm dia. nominal bore	100.00	metre	302.85	30285.00	INR Thirty Thousand Two Hundred & Eighty Five Only
54	Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc.: External work 25 mm dia. nominal bore	100.00	metre	339.70	33970.00	INR Thirty Three Thousand Nine Hundred & Seventy Only
55	Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc.: External work 50 mm dia. nominal bore	50.00	metre	543.40	27170.00	INR Twenty Seven Thousand One Hundred & Seventy Only
56	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end): 25 mm nominal bore	30.00	No.	462.15	13864.50	INR Thirteen Thousand Eight Hundred & Sixty Four and Paise Fifty Only
57	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931:15 mm nominal bore	100.00	No.	376.95	37695.00	INR Thirty Seven Thousand Six Hundred & Ninety Five Only
58	Providing and fixing C.P. brass stop cock (concealed) of standard design and of approved make conforming to IS:8931. 15 mm nominal bore	30.00	No.	516.35	15490.50	INR Fifteen Thousand Four Hundred & Ninety and Paise Fifty Only
59	Providing and fixing C.P. brass long body bib cock of approved quality conforming to IS standards and weighing not less than 690 gms.15 mm nominal bore	10.00	No.	615.00	6150.00	INR Six Thousand One Hundred & Fifty Only
60	Providing and fixing uplasticised PVC connection pipe with brass unions: 30 cm length 15 mm nominal bore	100.00	No.	64.95	6495.00	INR Six Thousand Four Hundred & Ninety Five Only

61	Providing and fixing water closet squatting pan (Indian type W.C., pan ) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistens, including flush pipe, with manually controlled device(handle lever) conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440 mm with integral type foot rests.	40.00	No.	4774.45	190978.00	INR One Lakh Ninety Thousand Nine Hundred & Seventy Eight Only
62	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to 15: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid	40.00	No.	4565.40	182616.00	INR One Lakh Eighty Two Thousand Six Hundred & Sixteen Only
63	Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete. 10 litre capacity - White	40.00	No.	863.00	34520.00	INR Thirty Four Thousand Five Hundred & Twenty Only
64	Providing and fixing white vitreous china wash basin including making all connections but excluding the cost of fittings: Flat back wash basin of size 630x450 mm.	50.00	No.	998.00	49900.00	INR Forty Nine Thousand Nine Hundred Only
65	Providing and fixing Stainless Steel A ISI 304 (18/8) kitchen sink as per IS 13983 with C.I. brackets and stainless steel plug 40 mm, including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink without drain board 470x420 mm bowl depth 178 mm.	40.00	No.	2437.30	97492.00	INR Ninety Seven Thousand Four Hundred & Ninety Two Only
66	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers complete.	60.00	No.	1126.55	67593.00	INR Sixty Seven Thousand Five Hundred & Ninety Three Only
67	Providing and fixing solid plastic seat with lid for pedestal type W.C. pan complete: White solid plastic seat with lid	50.00	No.	509.20	25460.00	INR Twenty Five Thousand Four Hundred & Sixty Only
68	Providing and fixing 100 mm sand cast Iron grating for gully trap.	100.00	No.	39.30	3930.00	INR Three Thousand Nine Hundred & Twenty Nine and Paise One Hundred Only
69	600 mm long towel rail with total length of 645 mm, width 78 mm and effective height of 88 mm, weighing not less than 190 gms.	60.00	No.	470.60	28236.00	INR Twenty Eight Thousand Two Hundred & Thirty Six Only
70	Providing and fixing C.P. brass shower rose with 15 or 20 mm inlet: 100 mm diameter	60.00	No.	144.40	8664.00	INR Eight Thousand Six Hundred & Sixty Four Only
71	Providing and fixing PTMT soap Dish Holder having length of 138mm, breadth 102mm, height of 75mm with concealed fitting arrangements, weighing not less than 106 gms.	60.00	nos.	84.00	5040.00	INR Five Thousand &Forty Only
72	Providing and fixing white vitreous china pedestal for wash basincompletely recessed at the back for the reception of pipes and fittings.	20.00	nos.	1302.20	26044.00	INR Twenty Six Thousand &Forty Four Only
73	Providing and fixing PTMT bib cock of approved quality and colour. 15mm nominal bore, 86 mm long. Weighing not less than 88 gms.	200.00	No.	95.35	19070.00	INR Nineteen Thousand &Seventy Only
74	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.	56000.00	Litre	8.40	470400.00	INR Four Lakh Seventy Thousand Four Hundred Only
75	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion, (i)Single socketed pipes. 110 mm diameter	500.00	m	262.40	131200.00	INR One Lakh Thirty One Thousand Two Hundred Only
76	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS: 5382 leaving 10 mm gap for thermal expansion.Bend 87.5°110 mm bend	50.00	No.	114.60	5730.00	INR Five Thousand Seven Hundred & Thirty Only
77	Providing and fixing unplasticised -PVC pipe clips of approved design to unplasticised - PVC rain water pipes by means of 50x50x50mm hardwood plugs, screwed with M.S. screws of required length including cutting brick work and fixing in cement mortar 1:4 (1 cement: 4 coarse sand) and making good the wall etc. complete. 110 mm	180.00	No.	234.80	42264.00	INR Forty Two Thousand Two Hundred & Sixty Four Only
	-		-			

78			I		34530.00 INR Thirty Four Thousand Five Hundre	d & Thirty Only
76	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion, (i)Single socketed pipes. 75 mm diameter	200.00	m	172.65	3433.00 INC THILLY FOR THOUSAND FIVE FURINE	a a mility Omy
79	Part C. Steel and Aluminium works Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	2400.00	Kg	92.55	222120.00 INR Two Lakh Twenty Two Thousand Twenty Only	One Hundred &
80	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross piece.	141.60	Sqm	3730.40	528224.64 INR Five Lakh Twenty Eight Thousand Twenty Four and Paise Sixty Four Only	
81	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete. Fixed to steel windows by welding.	3510.00	Kg	145.60	511056.00 INR Five Lakh Eleven Thousand &Fift	y Six Only
82	Providing & fixing glass panes with putty and glazing clips in steel doors, windows, clerestory windows all complete with: 4.0 mm thick glass panes.	30.00	Sqm	800.60	24018.00 INR Twenty Four Thousand &Eighteen	n Only
83	Welding by gas or electric plant including transportation of plant at site etc. complete.	3000.00	cm	2.95	8850.00 INR Eight Thousand Eight Hundred & i	Fifty Only
84	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/appropriate Z sections and other sections of approved make conforming to Is. 733 and Is. 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass's stainless steel serves, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling and dash fasteners to be paid for separately): For fixed portion Anodised aluminium (anodised transparent or dyed to required shade according to Is: 1868, Minimum anotic coating of grade AC 15)	679.76	Kg	367.10	<b>249539.90</b> INR Two Lakh Forty Nine Thousand Fi Thirty Nine and Paise Ninety Only	ve Hundred &
85	Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	667.08	Kg	434.00	289512.72 INR Two Lakh Eighty Nine Thousand F Twelve and Paise Seventy Two Only	Five Hundred &
86	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic item): With float glass panes of 5.50 mm thickness	399.00	Sqm	1090.10	434949.90 INR Four Lakh Thirty Four Thousand N Forty Nine and Paise Ninety Only	line Hundred &
87	Providing and fixing 12mm thick prelaminated particle board flat pressed three layer or graded wood particle board conforming to IS:12823 Grade I Type II, in panelling fixed in aluminum doors, windows shutters and partition frames with C.P. brass / stainless steel screws etc. complete as per architectural drawings and directions of engineer-in-charge. Pre-laminated particle board with decorative lamination on both sides.	30.00	Sqm	789.70	23691.00 INR Twenty Three Thousand Six Hund One Only	red & Ninety
88	Providing and fixing aluminium handles ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 125 mm	50.00	No.	51.80	2590.00 INR Two Thousand Five Hundred & Ni	nety Only
89	Providing and fixing aluminium hanging floor door stopper ISI marked anodised (anodic coating not less than grade AC 10 as per IS : 1868)transparent or dyed to required colour and shade with necessary screws etc. complete. Single rubber stopper	50.00	No.	30.65	1532.50 INR One Thousand Five Hundred & The Paise Fifty Only	nirty Two and
90	Providing and fixing aluminium tower bolts ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 1350x10 mm	50.00	No.	65.10	3255.00 INR Three Thousand Two Hundred & F Paise One Hundred Only	Fifty Four and
91	Providing and fixing aluminium sliding door bolts ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with nuts and screws etc. complete: 250x16 mm	35.00	No.	201.00	7035.00 INR Seven Thousand &Thirty Five Or	nly

92	Providing and fixing ISI marked aluminium butt hinges anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 125x63x4 mm	210.00	No.	98.80	20748.00	INR Twenty Thousand Seven Hundred & Forty Eight Only
93	Providing and fixing aluminium die cast body tubular type universal hydraulic door closer (having brand logo with ISI, IS: 3564, embossed on the body, door weight upto 35 kg and door width upto 700 mm) with necessary accessories and screws etc. complete.	20.00	No.	878.30	17566.00	INR Seventeen Thousand Five Hundred & Sixty Six Only
94	Part E- Dismantling Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. Nominal concrete 1:3.6 or richer mix (i/e equivalent design mix)	60.00	Cum	1412.40	84744.00	INR Eighty Four Thousand Seven Hundred & Forty Four Only
95	Demolishing R.C.C. work manually/ by mechanical means including stacking of steel bars and disposal of unserviceable material within 50 metres lead as per direction of Engineer - in- charge.	4.05	Cum	2060.50	8345.03	INR Eight Thousand Three Hundred & Forty Five and Paise Two Only
96	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge. In cement mortar	21.25	Cum	1194.45	25382.06	INR Twenty Five Thousand Three Hundred & Eighty Two and Paise Six Only
97	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	1704.50	Sqm	32.00	54544.00	INR Fifty Four Thousand Five Hundred & Forty Four Only
98	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead: Of area 3 sq. metres and below	205.00	No.	218.95	44884.75	INR Forty Four Thousand Eight Hundred & Eighty Four and Paise Seventy Five Only
99	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead. For thickness of tiles 10 mm to 25 mm	649.50	Sqm	43.75	28415.63	INR Twenty Eight Thousand Four Hundred & Fifteen and Paise Sixty Two Only
100	Dismantling G.I. pipes (external work) including excavation and refilling trenches after taking out the pipes, manually by mechanical means including stacking of pipes within 50 metres lead as per direction of Engineer-in-charge: 15 mm to 40 mm nominal bore	250.00	Metre	88.85	22212.50	INR Twenty Two Thousand Two Hundred & Twelve and Paise Fifty Only
101	Demolishing and removing of APP as per direction of EIC.	2756.60	sqm	50.94	140421.20	INR One Lakh Forty Thousand Four Hundred & Twenty One and Paise Twenty Only
102	<u>Part F.</u> Upkeeping of CPTI, GM Office, SJ Hospital & Transit camp Cleaning of general common toilet including cleaning of WC pan (Indian type/western type), wash basins, urinals by hand dusting and cleaning with soap soliton, acids, deodrants, phenje et et. to make the toilet clean & hygienic including providing napthalene balls in urinals etc. complete with all tools, tackles & consumables as per instruction of Engineer incharge.	63858.00	Nos	20.23	1291847.34	INR Twelve Lakh Ninety One Thousand Eight Hundred & Forty Seven and Paise Thirty Four Only
103	Cleaning, mopping & washing of floor of public building other places neatly with detergent/bleaching powder etc. all complete with tools, tackles and consumable to make the floor clean & hygienic as per instruction of EIC.	2774278.12	Sqm	0.65	1803280.78	INR Eighteen Lakh Three Thousand Two Hundred & Eighty and Paise Seventy Eight Only
104	Cleaning of door shutter, window shutter including chowkhat, window grill, glass panes etc. of service / community building with necessary detergent, chemicals etc complete as per instruction of EIC based on Analysis book of NCL Sl. No. 14 considering of 500 Nos. of doors of size 2Mx1M = 1000 Sq.m.	57595.84	Sqm	0.87	50108.38	INR Fifty Thousand One Hundred & Eight and Paise Thirty Eight Only
105	Clearing jungle including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth up to 30 cm measured at a height of 1 m above ground level and removal of rubbish up to a distance of 50 m outside the periphery of the area cleared.	206532.36	sqm	10.20	2106630.07	INR Twenty One Lakh Six Thousand Six Hundred & Thirty and Paise Seven Only
106	Brooming & cleaning of all roads in and within the premises of building and other places as required with all tools & tackles and stacking the garbage at specified place as per instruction of EIC.	13696577.06	Sqm	0.268	3670682.65	INR Thirty Six Lakh Seventy Thousand Six Hundred & Eighty Two and Paise Sixty Five Only
107	Part G- Cleaning of grass, drain and dustbin Cleaning of surface drain including disposal of muck, sludge through trolley or other arrangement at a specified place (in no case it should be kept on drain bank) within a lead of 1 KM with all tolls and tackles complete as per instruction of Engineer-in-charge. Upto 300 mm wide drain.	3288.00	m	2.59	8515.92	INR Eight Thousand Five Hundred & Fifteen and Paise Ninety Two Only
108	Cleaning of surface drain including disposal of muck, sludge through trolley or other arrangement at a specified place (in no case it should be kept on drain bank) within a lead of 1 KM with all tolls and tackles complete as per instruction of Engineer-in-charge. Upto 300 mm to 600 mm wide drain.	19000.00	m	3.24	61560.00	INR Sixty One Thousand Five Hundred & Sixty Only
109	Cleaning of surface drain including disposal of muck, sludge through trolley or other arrangement at a specified place (in no case it should be kept on drain bank) within a lead of 1 KM with all tolls and tackles complete as per instruction of Engineer-in-charge. Above 600 mm drain width	5280.00	m	4.31	22756.80	INR Twenty Two Thousand Seven Hundred & Fifty Six and Paise Eighty Only
110	Brooming and cleaning of all roads in colony and within the premises of service buildings and other places				288539.52	INR Two Lakh Eighty Eight Thousand Five Hundred &

111	Clearing grass and removal of the rubbish up to a distance of 50 m outside the periphery of the area cleared.	190534.84	sqm	5.20	990781.17	INR Nine Lakh Ninety Thousand Seven Hundred & Eighty One and Paise Seventeen Only
112	Surface dressing of the ground including removing vegetation and inequalities not exceeding 15 cm deep and disposal of rubbish, lead up to 50 m and lift upto 1.5 m. All kinds of soil.	7290.00	sqm	19.75	143977.50	INR One Lakh Forty Three Thousand Nine Hundred & Seventy Seven and Paise Fifty Only
113	Collection of garbage from door to door and disposal the same through trolley or other availablearrangement to the specified place within a lead of 1 KM including all cost maintenance etc. within all tools and tackles complete as per instruction of Engineer - in- charge.	115810.00	units	3.24	375224.40	INR Three Lakh Seventy Five Thousand Two Hundred & Twenty Four and Paise Forty Only
114	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and for all lift, as directed by Engineer-in-charge. All kinds of soil	1839.00	Cum	128.05	235483.95	INR Two Lakh Thirty Five Thousand Four Hundred & Eighty Three and Paise Ninety Five Only
115	Carriage of materials By Mechanical Transport including loading unloading and stacking Lime, moorum, building rubbish Lead - 5 km	1839.00	Cu.m.	168.10	309135.90	INR Three Lakh Nine Thousand One Hundred & Thirty Five and Paise Ninety Only
116	Part H- Maintenance of GM Office garden, VIP guest house garden, CPTI Garden, D type garden & Ambedkar park. Completemaintenanceof theentiregardenfeatureshavingasperyardstick inthegardenare i.e. lawntrees, shrubs,herbs, edge, flowerbeds, foliages, creepers etc. includinghoeing,weeding, pruning, replacement of plants, gap filling, watering, mowing of lawn, garsa cutting by lawnmover and brush cutter, removal of garden waste, applying insecticide, pesticide & fertilizers(whenever required) top dressing of lawn with good earth and manureandmaintenanceofothergardenrelatedworksasdirectedbyoffice-in charge (Gost officodflarth,Manure, Fertilizer, Insecticide, Pesticidewill be providedby theDepartment & lawnmover andbrush cutterwith fuel and other R&Pmaterial/articlesshall beprovidedbythecontractor, Jandasper direction of officer in charge, Play grounds / Public parks (IMali for 2.00Acre).	360548.40	Sqm per month	1.95	703069.38	INR Seven Lakh Three Thousand &Sixty Nine and Paise Thirty Eight Only
117	Maintenanceof PottedPlants at Nursery inEarthenpot including resetting/ displaying at Nursery, inculding watering, weeding, hoeing, colouring, transplantingthedmagedpotsanddisposalofgenertedgen/segestspecified place as per direction of officer-in-charge. (Note-Good earth, manure, fertilizer, insecticide&pesticidewillbeprovidedbythedepartment)(Earthen pot 2000 nos)	2000.00	Sqm	7.90	15800.00	INR Fifteen Thousand Eight Hundred Only
118	Supplying and stacking of good earth at site including royalty and carriage upto 5 km lead complete (earth measured in stacks will be reduced by 20% for payment).	39.00	Cum	493.05	19228.95	INR Nineteen Thousand Two Hundred & Twenty Eight and Paise Ninety Five Only
119	Supplying and stacking of well decayed cattle manure at site including royalty and carriage upto 5 k.m.lead complete (Cattle manure measured in stacks will reduced by 8% for Payment).	38.00	Cum	497.35	18899.30	INR Eighteen Thousand Eight Hundred & Ninety Nine and Paise Thirty Only
120	Spreading of sludge, dump manure and/or good earth in required thickness as per direction of officer-in- charge (cost of sludge, dump manure and/ or good earth to be paid separately).	76.00	Cum	43.70	3321.20	INR Three Thousand Three Hundred & Twenty One and Paise Twenty Only
121	Providing and stacking of summer & rainy seasonal seedling at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge. Zinnia hybrid	91.00	Per Tray	420.00	38220.00	INR Thirty Eight Thousand Two Hundred & Twenty Only
122	Providing and stacking of summer & rainy seasonal seedling at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge. Kochia	101.00	Per Tray	420.00	42420.00	INR Forty Two Thousand Four Hundred & Twenty Only
123	Providing and stacking of summer & rainy seasonal seedling at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge. Portulac	50.00	Per Tray	420.00	21000.00	INR Twenty One Thousand Only
124	Providing and stacking of summer & rainy seasonal seedling at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge. Sunflower	7.00	Per Tray	500.00	3500.00	INR Three Thousand Five Hundred Only
125	Providing and stacking of winter seasonal seedling/cutting at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge.cosmos hybrid	51.00	Per Tray	700.00	35700.00	INR Thirty Five Thousand Seven Hundred Only
126	Providing and stacking of winter seasonal seedling/cutting at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge.Dahlia	51.00	Per Tray	525.00	26775.00	INR Twenty Six Thousand Seven Hundred & Seventy Five Only
	double					

128	Providing and stacking of winter seasonal seedling/cutting at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge. Salvia	51.00	Per Tray	420.00	21420.00	INR Twenty One Thousand Four Hundred & Twenty Only
129	Providing and stacking of winter seasonal seedling/cutting at site of work well developed and healthy free from disease in per tray and each tray having 100 Nos plants as per direction of the officer-in-charge.Petunia hybrid	51.00	Per Tray	600.00	30600.00	INR Thirty Thousand Six Hundred Only
130	Providing and displaying of Areca Palm having ht. 90 cm to 1.20 m with 4 to 5 suckers, well developed, fresh and healthy with lush green foliage in 25 cm size of Earthen pot/Plastic pot & as per direction of the officer-in-charge.	160.00	each	157.85	25256.00	INR Twenty Five Thousand Two Hundred & Fifty Six Only
131	Providing and Displaying Budded Rose (H.T. variety) 3 to 4 healthy branch 30 cm and above ht. well developed with one and above flower plant in 20 cm Earthen Pot, as per direction of the officer-in-charge.	640.00	No	32.80	20992.00	INR Twenty Thousand Nine Hundred & Ninety Two Only
132	Providing and stacking of Bottle palm of ht. 150-180 cm bottom girth 20-25 cm well developed in big poly bags of size 25 cm as per direction of the officer-in-charge.	70.00	No	180.00	12600.00	INR Twelve Thousand Six Hundred Only
133	Providing and stacking of Thuja compacta of height 45-60 cm., well branched in earthen pots of size 25 cm as per direction of the officer-in-charge.	70.00	No	65.00	4550.00	INR Four Thousand Five Hundred & Fifty Only
134	Clearing grass and removal of the rubbish up to a distance of 50 m outside the periphery of the area cleared.	32144.00	sqm	5.20	167148.80	INR One Lakh Sixty Seven Thousand One Hundred & Forty Eight and Paise Eighty Only
135	Finishing walls with water proofing cement paint of required shade :Old work (one or more coats applied @ 2.20 kg/10 sqm) over priming coat of primer applied @ 0.80 litrs/10 sqm complete including cost of Priming coat.Old work (one or more coats @ 2.20 kg/10 sqm) complete.	3805.70	sqm	48.35	184005.60	INR One Lakh Eighty Four Thousand &Five and Paise Sixty Only
136	Carriage of materials By Mechanical Transport including loading unloading and stacking, Lime, moorum, building rubbish Lead - 5 km	52.00	sqm	168.10	8741.20	INR Eight Thousand Seven Hundred & Forty One and Paise Twenty Only
137	White washing with lime to give an even shade :Old work (two or more coats)	5127.52	sqm	14.30	73323.54	INR Seventy Three Thousand Three Hundred & Twent Three and Paise Fifty Four Only
138	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work	2258.62	sqm	65.65	148278.40	INR One Lakh Forty Eight Thousand Two Hundred & Seventy Eight and Paise Forty Only
139	Part K- Deployment facility manager (Highly skilled mapower) for day to day maintenance works in general shift as per instruction of Engineer-in-charge. )	624.00	Days	1056.58	659305.92	INR Six Lakh Fifty Nine Thousand Three Hundred & Five and Paise Ninety Two Only
140	Supplying labours, tools and tackles for cleaning filled and choaked man hole, septic tank, inspection- chamber, gullay pits, sewerage tank etc. in all lift and disposal of spoils upto a lead of 50M all complete as per specification and direction of E/I.	404.35	Cum	1213.20	490557.42	INR Four Lakh Ninety Thousand Five Hundred & Fifty Seven and Paise Forty Two Only
141	Supplying toilet cleaner	2760.00	litre	201.25	555450.00	INR Five Lakh Fifty Five Thousand Four Hundred & Fifty Only
142	Supplying Hand Wash	192.00	litre	253.00	48576.00	INR Forty Eight Thousand Five Hundred & Seventy Six Only
143	Supplying Floor cleaner	1680.00	litre	204.70	343896.00	INR Three Lakh Forty Three Thousand Eight Hundred & Ninety Six Only
144	Supplying Air freshner	114.00	litre	776.25	88492.50	INR Eighty Eight Thousand Four Hundred & Ninety Tw and Paise Fifty Only
145	Supplying Detergent Powder	624.00	kg	124.20	77500.80	INR Seventy Seven Thousand Five Hundred and Paise Eighty Only
146	Supplying Nepthelene ball	41.04	kg	431.25	17698.50	INR Seventeen Thousand Six Hundred & Ninety Eight and Paise Fifty Only
147	Part L- Electrical Part Wiring for light point/ fan point / exhaust fan point / call bell point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit with piano type switch phenolic laminated sheet suitable size M.S. box and earthing the point with 1.5 sq. mm FRLS PVC insulated copore conductor single core cable text. as required. Groun A	100.00	point	1000.00	100000.00	INR One Lakh Only

148	Wiring for light point/ fan point / exhaust fan point / call bell point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit with piano type switch phenolic laminated sheet suitable size M.S. box and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group B	70.00	point	1205.00	84350.00	INR Eighty Four Thousand Three Hundred & Fifty Only
149	Wiring for light point/fan point / exhaust fan point / call bell point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit with piano type switch phenolic laminated sheet suitable size M.S. box and earthing the point with 1.5 sq. mm FRLS PVC insulated copper conductor single core cable etc. as required. Group C	90.00	point	1494.00	134460.00	INR One Lakh Thirty Four Thousand Four Hundred & Sixty Only
150	Wiring for circuit / submain wiring along with earth wire with earth wire the following sizes of FRLS PVC conduit as required 2x 1.5 sq. mm + 1x 1.5 sq. mm earth wire.	120.00	metre	270.00	32400.00	INR Thirty Two Thousand Four Hundred Only
151	Wiring for circuit / submain wiring along with earth wire with earth wire the following sizes of FRLS PVC conduit as required 2x 2.5 sq. mm + 1x 2.5 sq. mm earth wire.	140.00	metre	307.00	42980.00	INR Forty Two Thousand Nine Hundred & Eighty Only
152	Wiring for circuit / submain wiring along with earth wire with earth wire the following sizes of FRLS PVC conduit as required 2x 4.0 sq. mm + 1x 4.0 sq. mm earth wire.	120.00	metre	359.00	43080.00	INR Forty Three Thousand &Eighty Only
153	Wiring for light/ power plug with 2x 4 sq. mm FRLS PVC insulated copper conductor single core cable in surface recessed medium class PVC insulated copper conductor single core cable for loop earthing required.	130.00	metre	279.00	36270.00	INR Thirty Six Thousand Two Hundred & Seventy Only
154	Supplying and fixing following piano type switch/ socket on the socket on the existing switch box / cover including connections etc. as required 3 pin 5/6 amp socket outlet.	200.00	Each	56.00	11200.00	INR Eleven Thousand Two Hundred Only
155	Supplying and fixing following piano type switch/ socket on the socket on the existing switch box / cover including connections etc. as required 5/6 amp switch.	250.00	Each	41.00	10250.00	INR Ten Thousand Two Hundred & Fifty Only
156	Supplying and fixing following piano type switch/ socket on the socket on the existing switch box / cover including connections etc. as required 15/16 amp switch.	200.00	Each	99.00	19800.00	INR Nineteen Thousand Eight Hundred Only
157	Supplying and fixing following piano type switch/ socket on the socket on the existing switch box / cover including connections etc. as required 15/16 amp socket outlet.	150.00	Each	113.00	16950.00	INR Sixteen Thousand Nine Hundred & Fifty Only
158	Supplying and stepped type electronic fan regulator on the existing modular plate switch box including connections but excluding connections but excluding modular plate etc. as required.	100.00	Nos.	313.00	31300.00	INR Thirty One Thousand Three Hundred Only
159	Supplying and fixing 3pin. 5 amp ceiling rose on the existing junction box / wooden block including connection etc. as required.	200.00	Each	69.00	13800.00	INR Thirteen Thousand Eight Hundred Only
160	Supplying and fixing brass batten / angle holder including connection etc. as required.	200.00	Each	105.00	21000.00	INR Twenty One Thousand Only
161	Supplying and fixing 5 amps to 32 amps rating 240/415 volts 10 kA "C" curve miniature circuit breaker suitable for inductive load of following poles in the existing MCB DB complete with connections testing and commissioning etc. as required Double pole.	30.00	Each	565.00	16950.00	INR Sixteen Thousand Nine Hundred & Fifty Only
162	Supplying and fixing metal box of following sizes (nominal size ) on surface or in recess with suitable size of phenolic laminated sheet cover in front including painting etc. as required 100 mm x 100 mm x60 mm deep.	150.00	Each	166.00	24900.00	INR Twenty Four Thousand Nine Hundred Only
163	Supplying and fixing metal box of following sizes (nominal size ) on surface or in recess with suitable size of phenolic laminated sheet cover in front including painting etc. as required 180 mm x 100 mm x60 mm deep.	200.00	Each	197.00	39400.00	INR Thirty Nine Thousand Four Hundred Only
164	Supplying and fixing metal box of following sizes (nominal size ) on surface or in recess with suitable size of phenolic laminated sheet cover in front including painting etc. as required 200 mm x 150 mm x60 mm deep.	150.00	Each	288.00	43200.00	INR Forty Three Thousand Two Hundred Only
165	Supplying and fixing metal box of following sizes (nominal size ) on surface or in recess with suitable size of phenolic laminated sheet cover in front including painting etc. as required 200 mm x 250 mm x60 mm deep.	100.00	Each	384.00	38400.00	INR Thirty Eight Thousand Four Hundred Only
166	Suppling and fixing brass batten /angle holder including connection etc. as required	150.00	Each	105.00	15750.00	INR Fifteen Thousand Seven Hundred & Fifty Only
167	Installation testing commissioning of wall bracket/ceiling fitting of all sizes and shapes containing upto two GLS/CFL/LED lamps per fitting complete with all accessories including connections etc. as required	50.00	Each	90.00	4500.00	INR Four Thousand Five Hundred Only

Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only
Total in Figures				29571224.74	INR Two Crore Ninety Five Lakh Seventy One Thousand Two Hundred & Twenty Four and Paise
Quoted Rate in Figures		Select		0.00	INR Zero Only
Quoted Rate in Words		INR Zero Only			